All Triangles are Isosceles

What is wrong with the following proof that all triangles AABC are isosce-
les?

Draw the bisector of ZABC and the perpendicular bisector of side AC.
These meet at O. Construct OS and OR perpendicular to AB and BC, respec-
tively. Draw OA and OC.

Since |AP| = |PC| and ZOPA, ZOPC are right angles, AAPO = ACPO
are congruent by SAS. Thus |AO| = |CO)].

ABOS and ABOR are right triangles with the same hypotenuse and ZOBS =
ZOBR. Call this angle §. Then |SB| = |BO|sin(f) = |RB|. By the Pythagorean
theorem, |OS| = |OR|. (Alternatively, to skip the trig, these two triangles have
corresponding anlges equal and hence are similar. Since they share a side, they
are congruent, so |0OS| = |OR)|.)

AAOS and ACOR are right triangles with hypotenuses AO and CO of the
same length, and with sides OS and OR of the same length. Again by the
Pythagorean theorem, |AS| = |CR)|.

Therefore, |AB| = |AS| + |SB| = |CR| + |RB| = |BC|, and AABC is
isosceles.
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